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KEY
Quiz – Stoichiometry # 1
    Given the following UNBALANCED equation:

      1
H2SO4 +   2 NaOH (    2 H2O +  1  Na2SO4
The molecular weights of the compounds in the equation are as follows:

H2SO4 - 98.06 g


NaOH -  40.0 g

H2O 
- 18.0 g



Na2SO4 - 142.06 g

a.      If 7 moles of H2SO4  react with the NaOH , how many moles of  H2O  will form ?

1 n H2SO4 / 2 n NaOH
= 7 n H2SO4 / x n NaOH

x = 14 n NaOH
b.
If 150 grams of  Na2SO4  is produced, then how many grams of  NaOH was needed 
to react ?

150 grams / 142.06 = 1.0559 moles of Na2SO4

1 n Na2SO4 / 2 n NaOH = 1.0559 n Na2SO4 / x n NaOH




X = 2.1118 n NaOH

Using n = g/M    2.1118 n x 40 g/n = 84.47 grams of NaOH
